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for formulation of State and district level 

action plans for dealing with such situations. 

The relief and rehabilitation measures are 

financed by a Calamity Relief Fund (CRF) 

which is contributed by the Government of 

India to the extent of 75%. 

(c) No, Sir. 

(d) Docs not arise. 

(c) and (f) Government of India has so far 

released three instalments of Central share of 

CRF amounting to Rs. 36.21 crorcs during 

1995-96 to the Government of Maharashtra 

for undertaking relief measures in areas 

affected by natural calamities including 

drought. 
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